
Seismic Structural Design Contest 2018

𝐸 =
0.3(𝑘𝑔) × 9.8 𝑚/𝑠2 × 190 𝑚𝑚

3 × 𝛿 × 144 𝑚𝑚4
𝐸 =

0.8(𝑘𝑔) × 9.8 𝑚/𝑠2 × 200 𝑚𝑚

3 × 𝛿 × 832 𝑚𝑚4

𝐼 = 144𝑚𝑚4 𝐼 = 832𝑚𝑚4

𝑀𝑥 = 1,070,470 N〮mm

𝑀𝑦 = 2667 N〮mm

𝑀𝑦 = 3555 N〮mm

(𝐒𝟏)

S = Z ∗ I = 0.11 ∗ 5.4 = 0.594

𝐹𝑎= 1

𝑐𝑚2

𝑆𝐷𝑆 𝑆𝐷1

𝑆𝐷𝑆 = 𝑆 ∗ 2.5 ∗ 𝐹𝑎 ∗
2

3
= 0.99

𝑆𝐷1 = 𝑆 ∗ 𝐹𝑉 ∗
2

3
= 0.396

𝑇𝑂 = 0.2 ∗
𝑆𝐷1
𝑆𝐷𝑆

= 0.08

𝑇𝑆 = 𝑆𝐷1/𝑆𝐷𝑆 = 0.4

𝜎𝑌 = 18MPa, 𝐹𝑌 = 𝐹𝑍 = 617.82N〮mm

𝐹𝑋(Tensile) = 294N〮mm𝐹𝑋(Compressive) = 2579N〮mm,

총 28가지

Step 1.

Step 2.

Step 3.

(𝑉2)

(𝑉1)

𝐶𝑚 0.85 ∗ 𝑉1/𝑉2

𝐶𝑚

Step 4.

Mode

Time (s)

Dir.


